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Notes 5.5 Law of Sines
nd c to denote

L .
S:;bel the sides and angles of the following triangle. Use A, B, and C to denote anglesand a, b, @
es.
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t least one side and any two other
d one side. This breaks down
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To solve an ) b ‘ ' 1“& Ay you need to know the measure of a
meas ures of the triangle — either two sides, two angles, or one anglean

into the following four cases.
.S
1. Twoangles and any side (AAS or ASA) - L_q,u) o ‘C S nes ('5-
2. Two sides and angle opposite one of them (SSA)
3. Three sides (SSS) ‘F Ce gine S (5: b)
= Law © !

4. Two sides and their included angle (SAS)

Law of Sines
[f AHC is a triangle with sides a, b, and ¢, then
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Example #1 Given Two Angles and One Side - AAS
Solve AABC

For triangle ABC, A = 35° B = 50°.and a = 16 feet. Find the remaininE angles and.sides. b o
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- g5 c meC = 98
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e=2111k

Scanned by CamScanner



Checkpoint
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remaining angle and sides
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Example 2 Given Two Angles and One Side - ASA

Because of prevailing winds, a tree grew so that it was leaning 3° from the vertical. At a point 20 meters from

the tree, the angle of elevation to the top of the tree is 28°. Find the height h of the tree.
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You try:

Find the height of the tree shown below.
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